4A3 2004 SOLUTIONS

The course had 26 candidate (21 undergraduate and 5 graduate). The course is split
75% exam 25% course work. The mean mark for the exam was 61.1% with a
standard deviation of 15.7%. The course work was well undertaken with candidates
obtaining an average mark of 64.1% and a standard deviation of 11.8%. The
distribution of undergraduate marks in the exam is given below.
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Question 1 (M42k oV T oF 20 )

Only 7 candidates attempted this question. The mean mark was 52.5%. The
candidates seemed to have been put off this question by the statement in part (c) ‘Note
a trial and error or a graphical solution is expected’. The question was very similar to
work that had been given in detail in this years 4A3 notes. Part (b) most candidates
completed this section in full. Part (c) was not well answered with a significant
number of candidates missing out the ratio of total pressures (throat to trailing edge)
from the calculation. No candidate got a correct solution to part (d).
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Question 2

21 candidates attempted this question. The mean mark was 62.2%. All candidates
completed part (a) and made a good attempt at part (b). Part (c) was very poorly
answered. Half the candidates answered part (d) correctly. There were no complete
answers to part (e) but a significant number of candidates outlined the correct method.
Overall this was a well answered question with a good distribution of solutions.

}'2 = Wezs - hou i
" kol "—LLO( O

0

For A corppe356¢

— a,_’
Te . &)ﬁ; i
T P.

TSewtporic eFercrevcy IS A weksore oF
THE RATIO 6F REAC To IVEAC wokk. Roeyrzeric
CFFICIoWCY TS CACHATEYD By SPUITIVE  THE
STAGCE OP INTO Swmall AP <iawces AVO VAV %o
THe (oZAC eXIT Cowo miows FOR  EMCH STHGE .

HE DIFFreevyce BeTweaw THE  Wo 1WERENSES
WITH pec3suls KPAT70 AWD rS ooe T THE

REHERT CFFET - @

TSEWTROP(C  EFFICIOVCIES ALE WHART OerB8emine
THE OVOAC WOk Tapur o€ ovrPor oF A
WACH IV E.



\/"L‘f = \,5),\»" \[07_ = \!',\')4‘»/\:“0 G ~ \\

Kk,‘: \/% Co> 3O (bmi}ou Lon LLS"\ I \IM
9 o )'-

kLL = V)\ Ld)q'O‘(bﬂ\q'O A Lzml-l-g + G -\

7

/‘ Ma\:\ —-‘;\IL:-%}JC{\‘OX

2]

I

- .S [IOOQX |. 60 F4x 300 B
e = Lol. 6% / S




YA
uv)‘ = SZ'CQ\ - '<; - o O222mM @

L 2

gy

© M dffonse LE. Mzo? PIp, = o 656
AR = U - 0'696) Vouc
&Y = 0% %(\— ‘6Q6)V°Le = -R4o3 P"LE. @
AP = %ol /. 454 P\.e, = 26% Ve

\’564 PLE - Ll. lr“/(.
Pe- %926 bex. 2]

3~
= _

T = Tox (:656)
@Mwwsrv Azﬂ}ses iwo ANELAE. Wi

71 conwsavT SoV Deoves

M ww‘zeﬂ.bc e,wl, Mo=lo » = 833 Voq

Bebivaan WWLMWL'

Tae _ [P ]
Me _ | Ve P
‘Tre -P:e- and (?\): 03 @

e PT& - O%Qﬂ PLE
— P-‘-g,:: PRNES ‘rM

QT& - _E.‘_E.... - 28072 \L‘SIW*.‘)

P\’\‘Ti
A = ')m@e\j(xwzto\ls @
\j{.: \I.)\ (_0.9'-}00 - \%4‘%8 ‘*\75
O .
W = AT R 2059 k34698 x\3338 T

CO259 vy




Mo the bl o,
Ve =
P‘;’é—: L3 61 bac
To o= 16613 T,
AT = - 604 To,
BTos = C 560\ 1T,
T= 92y,

|

@



Question 3

24 candidates attempted this question. The mean mark was 63.9%. Part (a) of the
question only carried 10% of the mark but a significant number of students wasted
time by giving a solution that was more detailed than necessary. Part (b) and (c) was
extremely well answer with most candidates producing good solutions. Part (d) was
badly answered with most candidates not showing how the locus of the operating line
could be calculated. Full marks required the candidate to outline the construction
method of the locus. Around a third of candidates answered part (e) correctly.
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